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Unit 3 Review

Inverse and
Equivalent
Expressions
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‘Topics: @

 Inverse Functions

« Multiplying Polynomials

Adding and Subtracting Polynomials
The Four Operations on Fractions
Simplifying Rational Expressions
Multiplying and Dividing Rational Expressions
Adding and Subtracting Rational Expressions
Solving Rational Equations
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6. Which expression has the restrictions y # — 1, 0, %

on its variable?
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20. If f(x) = 5x — 7, then
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23. If f(x) = 3(x + 2)* — 5, the domain must be
restricted to which interval if the inverse is to be
a function?
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